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2. B. 
[image: image2.wmf](

)

(

)

(

)

(

)

(

)

(

)

0

1

log

3

log

log

8

log

log

log

ln

log

log

log

4

3

4

2

3

4

8

2

3

4

=

=

=

=

e

 

3. A.
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4. A. 
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5. D. 
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6. A. 
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7. B. 
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 (The answer must be positive due to the radical leading to the elimination of the -8)
8. D. 
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9. C. 
[image: image9.wmf](

)

3

4

3

csc

csc

sin

1

cos

1

1

cos

cos

1

cos

2

2

2

2

4

2

0

2

=

÷

ø

ö

ç

è

æ

®

=

=

-

=

+

+

=

=

å

¥

=

p

x

x

x

x

x

x

x

f

n

n

K

 

10. B. 
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11. E. (Accepted B or E)
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Since this solution causes the expression to be undefined, there are no solutions. 
12. C. 
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 Now, to continue with this problem, we must find the value of
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13. D. The area will be three times the sum of the values of the function at the right edge points of each rectangle at x = 4, 7, 10, 13 and 16. 
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14. D. 
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15. C.  If we make
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. By looking at this equation, we can see that -1 is a solution and by synthetic division we get
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16. D. Shift-
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17. C. 
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18. THROWN OUT B. I can be disproven by seeing that any downward vertical shift of the function can cause it to equal zero. II and IV can be disproven by any function that is an exponential decay as it is decreasing on its domain and starts at infinity. III can be disproved by
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which is not linear (as well as any other integer based exponential function that contains a power of x as the exponent). V must be true as
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reaches its minimum and maximum at -1 and 1 and the minimum and maximum of the function occur when these are plugged in. 
19. B. 
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20. A. I can be seen to be false by looking at the domain
[image: image30.wmf]1
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and cause the denominator to be zero. IV is true as it is just a use of logarithmic expansion and power reduction. With these truth values we get -3+5-7+4=-1  
21.  A. 
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22. C. 
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23. CHANGED TO E 

A. It is helpful to create triangles to solve this problem using the terms contained in the inverse trig functions. Triangle for arccosine-
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 . Now we can solve as such
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24. B. For this problem, we must realize that there a total of 625 ways to pair
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25. B. This will only occur when
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while the solutions make the exponent even. Solving the first equation, we get that
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. We cannot factor the second equation but we can see that both of its roots are real and different as the quadratic is not a square and can then use
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to get the sum of the roots to be -11. The third equation gives us the solutions
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, which give us 10 and -2 when plugged in to the exponent making the expression equal 1. All of the solutions sum up to -29.
26. D. 
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27. B. To begin, we must find what the summation equals 
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(The x can be treated as a constant in the summation as n is the variable). Now we just plug this back into the exponent to get our answer
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28. E. To find the half-life of this substance, we need to find half of the original amount of the substance (t=0) and then set it equal to the decay function and solve for t. 
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29. C. The horizontal asymptote is found by taking the ratio of the leading factors of the fraction
[image: image66.wmf](

)

2

2

ln

2

5

-

=

®

-

®

+

-

-

y

e

e

e

x

e

e

x

x

x

x

. The vertical asymptote is found by setting the denominator to zero
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looking at this, we can see that x=0 is the only solution. 
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30. C. 
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